Exhibit - Application to Make Donation to Geneseo CUSD #228 from an entity other than the Geneseo Education Foundation

To be submitted to the Building Principal or Superintendent

10-20-21 Geneseo Foundation Date Name of Individual or Organization If the gift is a purely monetary donation: I (We) would like to make a donation in the amount of 51971.24payable to GENESEO CUSD 228 for the purpose of Geneses High School Wellners Equipment Improvement.

If a gift of a supply, material or equipment: for the purpose of

Received by (please print)_____

□ Accepted by Administration and/or Board

DATE _____

GENESEO FOUNDATION

October 20, 2021

Geneseo Community Unit School District #228 Attn: Todd Ehlert 700 North State Street Geneseo, IL 61254

Re: Geneseo Foundation Grant Application

Dear Mr. Ehlert:

The Board of Managers reviewed the additional information provided regarding the tabled request for equipment purchases and approved a grant of \$51,971.24. Please find enclosed a check for the approved amount.

Should you have any questions regarding the Geneseo Foundation or the approval process, please do not hesitate to contact me. We wish you continued success with your efforts, which enhance the quality of life for the citizens of Geneseo and its surrounding communities.

Sincerely, GENESEO FOUNDATION

Anny

Michael J. Kelly Sr. Trust Officer & V.P.

Enc

101 North State · PO Box 89 · Geneseo, IL 61254-0089 PH 309.944.5601 · FAX 309.944.4611

Geneseo High School Wellness Improvement	A	.	-	
	Quantity	Price	Total	Total Overall
I. Bumper Plates - PB Extreme Colored Rubber Bumper Plates				
10# - Black	36	\$140.00	\$2,520.00	
25# - Green	18	\$219.00	\$1,971.00	
35# - Yellow	18	\$310.00	\$2,790.00	
45# - Blue	36	\$399.00	\$7,182.00	
Shipping			\$915.00	
2. Economy Horizontal Plate Rack	9	\$162.00	\$1,458.00	
Shipping			\$162.00	
3. York Plate Tree "A"	1	\$225.00	\$225.00	
Shipping			\$65.00	
4. Polypropylene Weightlifting Dip Belt	17	\$34.00	\$578.00	
Shipping		ço noo	\$85.00	
Chipping			ψ00.00	
5. Cotton Lifting Straps	17	\$6.00	\$102.00	
Shipping	17	ψ0.00	\$29.00	
Snipping			φ23.00	
6. Weights - PB Extreme Urethane Olympic Plates - sold as singles				
	•	* 0.00	¢50.04	
#2.5 - PB Extreme Urethane Olympic Plates	8	\$6.63	\$53.04	
#5 - PB Extreme Urethane Olympic Plates	8	\$13.25	\$106.00	
#10 - PB Extreme Urethane Olympic Plates	16	\$26.50	\$424.00	
#25 - PB Extreme Urethane Olympic Plates	8	\$66.25	\$530.00	
#35 - PB Extreme Urethane Olympic Plates	4	\$92.75	\$371.00	
#45 - PB Extreme Urethane Olympic Plates	32	\$119.25	\$3,816.00	
Shpping			\$576.00	
7. Padded Cotton Lifting Straps	17	\$8.00	\$136.00	
Shipping			\$29.00	
8. PB Extreme® Barbell Blocks	17	\$15.00	\$255.00	
Shipping			\$199.00	
			<i><i><i>ϕ</i></i> 100100</i>	
9. First Place Fitness Mat 72"	48	\$34.00	\$1,632.00	
Shipping	10	\$ 01.00	\$125.00	
Shipping			ψ125.00	
10. First Place Vertical Mat Rack with Wheels	6	\$189.00	\$1,134.00	
		\$9.00	\$1,134.00	
First Place Vertical Mat Rack Extra Pegs	16	\$9.00	· · · · · · · · · · · · · · · · · · ·	
Shipping			\$275.00	
11. First Place Superbands				
1/4" Orange	10	\$6.00	\$60.00	
3/4" Yellow	10	\$12.00	\$120.00	
1 1/8" Purple	20	\$16.00	\$320.00	
1 1/2" Green	10	\$18.00	\$180.00	
2" Blue	10	\$22.00	\$220.00	
Shipping			\$79.00	
12. Lock-Jaw Barbell Collar	9	\$32.00	\$288.00	
Shipping			\$79.00	
13. Triforce	13	\$296.00		3,848.00
		10% Discount		-384.8
		Total	\$3,463.20	
14. Technology for weight room				
75" Clevertouch IMPACT PLUS Series - 4K, High, CTImpactPLUS4K-75_5YR - TV	2	\$3,474.00	\$6,948.00	
iRover2 IFP500 - TV Cart	2	\$1,200.00	\$2,400.00	
	۷.	\$1,200.00	\$2,400.00	
Lift Gate Charge				
Shipping		\$550.00	\$550.00	

15. Treadmill and Bikes - B and B Cyclery				
True PS 900 Treadmill	1	\$5,020.00	\$5,020.00	
Schwinn Airdyne Pro	2	\$999.00	\$1,998.00	
Discount 10%			-\$621.00	
Shipping		\$0.00		
16. PROCEDOS PLATFORM 9 PRO	17	\$140.00	\$2,380.00	
Shipping			\$450.00	
		Total	\$51,971.24	
Physical Education Budget				
2021-2022	1,200.00			
2020-2021	1,200.00			
2019-2020	1,200.00			
2018-2019	1,200.00			
2017-2018	2,000.00			